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IV III

V

II I

IV III

X Z Y X

X P Q

Y (A) (B) (C)

Z (E) (F)        

Ar(X) Area (X) X

(i)

Ar(A)=Ar(B) B A

q p X (ii)

ar (X) = ar (P) + ar(Q)  
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11.3

5 AB ABCD

4 BC

4 BC 5 AB

20 4 5

' ab ' ' b ' ' a '

1

1 '1'

11.1 -

6 5m 1cm .1

1sq.m = 100sq.cm .2

BC 6.5cm AB 12cm AD DC ABC = 900 ABC .1
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QR 8cm PS 9, PQ 12cm QPS SQR=90o PQRS .2

PQRS SR 17cm

ABCD ADCE ABCD .3

BD AC ABCD .4

' 0 '

ar( AOD)=ar BOC)
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CD EFCD ABCD (i)

PQRS (ii) CD EFCD ABCD

(iv) BC DBC ABC (iii) TURS

DC PCD ABCD

EF AB

(iv) (iii) PQTU A,B,C,D TU PQ

A1 B1 C1 D1 (v)

F1 E1 B1 A1 D1 C1 A1 F1 E1 F1 C1 D1

S1 R1 T1 U1 R1 S1 P1 Q1 R1 S1 (vi) AF||DG

(viii) (vii) S1 R1 P1 V1
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.11.5

PQCD ABCD

DC

DCQA DC PB

DAP

CBQ

ar(PQCD) = ar (ABCD)

:11.1
PB DC PQCD ABCD

AD||CB DDA CQB PD||CQ CBQ DAP

PQCD PD||QC DAP CBQ PB

CBQ DAP

Ar(PQCD)  =  ar  (AQCD)  +  ar  (DAP)                 
= ar (AQCD)+ar(CBQ)=ar(ABCD)

SCERT T
ELA

NGANA



251

      ABCD A1B1C1D1 AB=A1B1

 C, D C1, D1 B1 B A1 A

AB DG ABEF ABCD 1

ar(ABCD)=ar(ABEF) (i)

ar(ABCD)=ABxDG (ii)

(i)

ar(ABCD)=ar(ABEF)

ar(ABCD)=ar(ABEF)(fig(i)) (ii)

=ABxBE(ABEF

AB DG DG BE

Ar(ABCD)= ABxDG

AB ABEF ABC 2

EF AB

ABHC H FE BH||AC B   

AB AB ABEF ABHC BC

EF

16cm 12cm 3

D O N M DA CD BC AB ABCD :

MNOP
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MNOP

PN||PC PN||AB PN

AB PN PN MNP ABNP

(iii) (ii)(i)

36cm2 ABCD .1

ABEF AB=4.2cm

CF DC AE ABCD .2

AE=8cm AB=10cm AD 

AD CF=12cm

ABCD H G,F,E .3

AD CD BC AB

APM, DPO, OCN 3 .4
MNB

11.2

.... (iii)

   .... (i)

(PDCN)
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DC ABCD Q P .5

AD

ar( APB)=ar( BQC)

P ABCD .6

AB P

.7

ABRS PQRS .8

BR X

PQRS   .9

Q P A RS

.10

.11.6
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AD BC BC DBC ABC

FDCB AECB BF||CD CE||AB AD

ar(AECB) = ar(FDCB) EF BC BC

   

ar( ABC)=ar( DBC) (ii) (i)

DBC ABC

ABC

BD AC DBC

BF||CD CE||BA P

AD F E

ar( PBC)=ar( PBC)
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1

ABCD CD=BA AD||BC ABC

AC

ABC ACD 

ar ABC ar ACD

ar ABC= ar(ABCD)

AE BC AE BC

ar(ABCD)=BC x AE 

ar( ABC)= ar (ABCD) 

 x BC x AE

ar ABC=  x BC        x AE

11.2

DBC ABC BC

D A

ADC ABD AD 4

AE BC DC BD

ar ( ABD) = ar( ACD)
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BC DE||AC AC ABCD 5

BC DE E E

ar (ABCD) = ar( ABE)  

ar (ABCD) = ar( ABC) + ar ( DAC) :
DE//AC EAC DAC

ar ( DAC) = ar ( EAC) 
ABC

AP//BQ//CR 6
ar(AQC)=ar( PBR)

BQ PBQ ABQ  :
AP//BQ

ar( ABQ) = ar ( PBQ)..........(1)

BQ BQ//CR ar( CQB)=ar ( RQB) (ii)

(ii) (i) 

E A B C .1

AD

11.3

.2
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ABD ABC .3

O AB CD AB

ar( ABC)=ar( ABD)

AB CA BC ABC .4

F E D

BDEF

E D AC AB .5

ABC

ar( DBC) = ar( EBC)

DE||BC 

BC XY .6

CF//BA BE//CA A

XY F E

ar( ABE) = ar( ACF)

O BD AC ABCD .7

AB||DC
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F DC ABCDE .8

AC BF

ar RAS = ar RBS .9

PQRS ar( QRB) = ar( PAS)

RSBA

.10

A B C A B C A A B C

Y BC AE AX DE ABMN ACFG BCED

CM BF AE AD X DE

(vii)
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.1

.2

ar(X)=ar(P)+ar(Q) Q P X .3

.4

.5

.6

.7

.8

.9

.10

(1862-1943)

(1847-1930)  
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